

Explicit formulas for Euler polynomials and Bernoulli numbers

Laala Khaldi^{1,2}, Farid Bencherif³ and Miloud Mihoubi⁴

¹ Department of Mathematics, University of Bouira, 10000 Bouira, Algeria

² Laboratory EDPNL&HM, Department of Mathematics, ENS

BP 92, Vieux-Kouba, Algeria

e-mails: l.khaldi@univ-bouira.dz, khaldi.math@gmail.com

³ Laboratory LA3C, Faculty of Mathematics, USTHB

BP 32, El Alia, 16111, Algiers, Algeria

e-mail: fbencherif@usthb.dz

⁴ Laboratory RECITS, Faculty of Mathematics, USTHB

BP 32, El Alia, 16111, Algiers, Algeria

e-mail: mmihoubi@usthb.dz

Received: 11 February 2021

Revised: 12 October 2021

Accepted: 20 October 2021

Abstract: In this paper, we give several explicit formulas involving the n -th Euler polynomial $E_n(x)$. For any fixed integer $m \geq n$, the obtained formulas follow by proving that $E_n(x)$ can be written as a linear combination of the polynomials $x^n, (x+r)^n, \dots, (x+rm)^n$, with $r \in \{1, -1, \frac{1}{2}\}$. As consequence, some explicit formulas for Bernoulli numbers may be deduced.

Keywords: Appell polynomials, Euler polynomials, Bernoulli numbers, Binomial coefficients.

2020 Mathematics Subject Classification: 11B68, 05A10.

1 Introduction

A polynomial sequence $A = (A_n(x))_{n \geq 0}$ is called an Appell sequence [2] if one of the following equivalent conditions is satisfied

$$A'_n(x) = nA_{n-1}(x), \quad n \geq 1 \text{ and } A_0(x) \text{ is a non-zero constant,} \quad (1)$$

$$\sum_{n=0}^{\infty} A_n(x) \frac{t^n}{n!} = S_A(t) e^{xt}, \text{ where } S_A(t) \text{ is a formal power series such } S_A(0) \neq 0, \quad (2)$$

$$A_n(x) = \sum_{k=0}^n \binom{n}{k} A_k(0) x^{n-k} \text{ with } A_0(0) \neq 0. \quad (3)$$

Let $r \neq 0$ be a complex number and $m \geq 0$ be an integer. It is easy to see that the family of polynomials $\{x^m, (x+r)^m, (x+2r)^m, \dots, (x+mr)^m\}$ forms a base of the \mathbb{C} -vectorial space $\mathbb{C}_m[x] := \{P(x) \in \mathbb{C}[x] : \deg P(x) \leq m\}$. For any Appell sequence A , $A_m(x)$ is a polynomial of degree m which we want to decompose on this basis. Therefore, there exists a unique sequence of complex numbers $\mu_j = \mu_j(A, r, m)$ such that

$$A_m(x) = \sum_{j=0}^m \mu_j (x+rj)^m. \quad (4)$$

Note that for $0 \leq n \leq m$, by (1), we have

$$A_m^{(m-n)}(x) = \frac{m!}{n!} A_n(x).$$

Then, by differentiating $m-n$ times the two sides of (4) and dividing by $\frac{m!}{n!}$, we deduce that we have more generally

$$A_n(x) = \sum_{j=0}^m \mu_j (x+rj)^n, 0 \leq n \leq m. \quad (5)$$

The aim of this article is to determine simple expressions of $\mu_j(E, r, m)$ for $r \in \{1, -1, \frac{1}{2}\}$ and to deduce explicit formulas for Euler polynomials and Bernoulli numbers, where $E = (E_n(x))_{n \geq 0}$ is the Appell sequence of Euler polynomials defined by their exponential generating function

$$\frac{2e^{xt}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} \quad (|t| < \pi). \quad (6)$$

2 Lemmas

To obtain the desired expressions and explicit formulas, we give some lemmas which will be used later.

Lemma 2.1. *For all integers j and m such that $0 \leq j \leq m$, we have*

$$\sum_{k=j}^m \frac{(-1)^j}{2^k} \binom{k}{j} = \frac{(-1)^j}{2^m} \sum_{k=j}^m \binom{m+1}{k-j} \quad (7)$$

and

$$\sum_{k=j}^m \frac{(-1)^j}{2^k} \binom{k}{j} = \sum_{k=j}^m \frac{(-1)^k}{2^k} \binom{m+1}{k+1} \binom{k}{j}. \quad (8)$$

Proof. We have [7]

$$\sum_{k=j}^m \binom{k}{j} x^k = \sum_{k=j}^m \binom{m+1}{k-j} x^k (1-x)^{m-k}. \quad (9)$$

In particular, for $x = \frac{1}{2}$, we get (7) after multiplying by $(-1)^j$.

By deriving j times and dividing by $j!$ the two sides of the identity

$$\sum_{k=0}^m x^k = \sum_{k=0}^m \binom{m+1}{k+1} (x-1)^k,$$

we obtain

$$\sum_{k=j}^m \binom{k}{j} x^{k-j} = \sum_{k=j}^m \binom{m+1}{k+1} \binom{k}{j} (x-1)^{k-j}.$$

The identity (8) follows by substituting $x = \frac{1}{2}$ in this identity and multiplying by $(-2)^{-j}$. \square

Lemma 2.2. *We have*

$$\frac{1}{1+t+\frac{1}{2}t^2} = \sum_{k=0}^{\infty} a_k t^k \quad (|t| < \sqrt{2}),$$

where a_k is

$$a_k = \sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+k}}{2^s} \binom{k-s}{s}, \quad (10)$$

$$a_k = \sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+k}}{2^k} \binom{k+1}{2s+1}, \quad (11)$$

$$a_k = \frac{(-1)^k}{2^{\frac{k-1}{2}}} \sin\left((k+1)\frac{\pi}{4}\right), \quad (12)$$

where $\lfloor x \rfloor$ is the largest integer less than or equal to x .

Proof. We have

$$\frac{1}{1+t+\frac{1}{2}t^2} = \sum_{j=0}^{\infty} (-1)^j \sum_{s=0}^j \binom{j}{s} \frac{t^{j+s}}{2^s} = \sum_{k=0}^{\infty} a_k t^k,$$

which gives (10). To prove (11) and (12), we use the well-known identity [6, 1.60. pp. 8]

$$\sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^s \binom{k-s}{s} (xy)^s (x+y)^{k-2s} = \frac{x^{k+1} - y^{k+1}}{x-y},$$

with

$$x = \frac{1}{2}(1+i) = \frac{1}{\sqrt{2}}e^{i\frac{\pi}{4}} \text{ and } y = \frac{1}{2}(1-i) = \frac{1}{\sqrt{2}}e^{-i\frac{\pi}{4}}. \quad (13)$$

With this we get the desired result. \square

3 Explicit formulas for Euler polynomials

We will begin by giving some operators properties defined on the vector space $\mathbb{C}[x]$. Since we have

$$\frac{2}{e^t + 1} = \sum_{k=0}^{\infty} E_k(0) \frac{t^k}{k!} \quad (|t| < \pi),$$

we denote by Ω_E for the operator

$$\Omega_E = \frac{2}{e^D + 1}, \quad (14)$$

defined by

$$\Omega_E = \sum_{k=0}^{\infty} E_k(0) \frac{D^k}{k!},$$

where D is the usual differential operator. The operator Ω_E verifies the relation $E_n(x) = \Omega_E(x^n)$.

If we consider the translations τ_r ($r \in \mathbb{C}$) of $\mathbb{C}[x]$ which are the operators defined by Robert [9, pp. 195] as

$$\tau_r(x^n) = (x+r)^n, \quad n \geq 0,$$

and the operators Δ_r defined for $r \neq 0$ as

$$\Delta_r(x^n) = (x+r)^n - x^n, \quad (15)$$

we get

$$\Delta_r = \tau_r - 1 = e^{rD} - 1.$$

We denote by Δ for the operator Δ_1 .

For $k \geq 0$, we have

$$\Delta_r^k = (\tau_r - 1)^k = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} \tau_{rj}$$

and

$$\Delta_r^k(x^n) = (\tau_r - 1)^k(x^n) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (x+rj)^n. \quad (16)$$

We want express Ω_E as [7]

$$\Omega_E = \sum_{k=0}^{\infty} b_k \frac{\Delta_r^k}{k!},$$

where b_k depends of r . In the following lemmas, we study cases where $r \in \{1, -1, \frac{1}{2}\}$.

Lemma 3.1. *We have*

$$\Omega_E = \sum_{k=0}^{\infty} \frac{(-1)^k}{2^k} \Delta^k \quad (17)$$

and

$$\Omega_E = 1 - \sum_{k=1}^{\infty} \frac{(-1)^k}{2^k} \Delta_{-1}^k. \quad (18)$$

Proof. It is easy to see that we have

$$\Omega_E = \frac{2}{e^D + 1} = \frac{2}{2 + \Delta} = \sum_{k=0}^{\infty} \frac{(-1)^k}{2^k} \Delta^k$$

and

$$\Omega_E = \frac{1 + \Delta_{-1}}{1 + \frac{1}{2}\Delta_{-1}} = 1 - \sum_{k=1}^{\infty} \frac{(-1)^k}{2^k} \Delta_{-1}^k. \quad \square$$

Lemma 3.2. *We have*

$$\Omega_E = \sum_{k=0}^{\infty} \left(\sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+k}}{2^s} \binom{k-s}{s} \right) \Delta_{\frac{1}{2}}^k, \quad (19)$$

$$\Omega_E = \sum_{k=0}^{\infty} \left(\sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+k}}{2^k} \binom{k+1}{2s+1} \right) \Delta_{\frac{1}{2}}^k, \quad (20)$$

$$\Omega_E = \sum_{k=0}^{\infty} \left(\frac{(-1)^k}{2^{\frac{k-1}{2}}} \sin \left((+1) \frac{\pi}{4} \right) \right) \Delta_{\frac{1}{2}}^k. \quad (21)$$

Proof. By the expression

$$\Omega_E = \frac{1}{1 + \Delta_{\frac{1}{2}} + \frac{1}{2} \Delta_{\frac{1}{2}}^2}, \quad (22)$$

and with the help of Lemma 2.2, we have

$$\Omega_E = \sum_{k=0}^{\infty} a_k \Delta_{\frac{1}{2}}^k.$$

The relations (19), (20) and (21) result from expressions (10), (11) and (12) of a_k given in Lemma 2.2. \square

Theorem 3.3 (Case $r = \pm 1$). *For all integers m, n such that $0 \leq n \leq m$, we have*

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \frac{(-1)^j}{2^k} \binom{k}{j} \right) (x+j)^n, \quad (23)$$

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \frac{(-1)^j}{2^m} \binom{m+1}{k-j} \right) (x+j)^n, \quad (24)$$

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \frac{(-1)^k}{2^k} \binom{m+1}{k+1} \binom{k}{j} \right) (x+j)^n, \quad (25)$$

$$E_n(x) = \frac{x^n}{2^m} + \sum_{j=1}^m \left(\sum_{k=j}^m \frac{(-1)^{j+1}}{2^k} \binom{k}{j} \right) (x-j)^n. \quad (26)$$

Proof. In what follows, we suppose that $0 \leq n \leq m$. From (17) of Lemma 3.1, we have

$$E_n(x) = \Omega_E(x^n) = \sum_{k=0}^m \frac{(-1)^k}{2^k} \Delta^k(x^n), \quad (27)$$

and with the help of (16), we have

$$\Delta^k(x^n) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (x+j)^n. \quad (28)$$

By (27) and (28), we have

$$\begin{aligned} E_n(x) &= \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^j}{2^k} \binom{k}{j} (x+j)^n \\ &= \sum_{j=0}^m \left(\sum_{k=j}^m \frac{(-1)^j}{2^k} \binom{k}{j} \right) (x+j)^n. \end{aligned}$$

The relation (23) is thus proved and we have

$$\mu_j(E, 1, m) = \sum_{k=j}^m \frac{(-1)^j}{2^k} \binom{k}{j}. \quad (29)$$

By relation (7) of Lemma 2.1 and (29), we deduce that we have also

$$\mu_j(E, 1, m) = \sum_{k=j}^m \frac{(-1)^j}{2^m} \binom{m+1}{k-j},$$

and (24) follows. By relation (8) of Lemma 2.1 and (29), we deduce that we have also

$$\mu_j(E, 1, m) = \sum_{k=j}^m \frac{(-1)^k}{2^k} \binom{m+1}{k+1} \binom{k}{j},$$

and (25) follows. By (18) of Lemma 2.1, we have

$$E_n(x) = \Omega_E(x^n) = x^n - \sum_{k=1}^m \frac{(-1)^k}{2^k} \Delta_{-1}^k(x^n). \quad (30)$$

With the help of (16), we have

$$\Delta_{-1}^k(x^n) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (x-j)^n. \quad (31)$$

Relation (26) follows from (30) and (31). \square

Remark 3.4. For $m = n$ in (23) we obtain

$$E_n(x) = \sum_{k=0}^n \frac{1}{2^k} \sum_{j=0}^k (-1)^j \binom{k}{j} (x+j)^n.$$

Theorem 3.5 (Case $r = 1/2$). For all integers m, n such that $0 \leq n \leq m$, we have

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+j}}{2^s} \binom{k-s}{s} \binom{k}{j} \right) \left(x + \frac{j}{2} \right)^n, \quad (32)$$

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+j}}{2^k} \binom{k+1}{2s+1} \binom{k}{j} \right) \left(x + \frac{j}{2} \right)^n, \quad (33)$$

$$E_n(x) = \sum_{j=0}^m \left(\sum_{k=j}^m \frac{(-1)^j}{2^{\frac{k-1}{2}}} \binom{k}{j} \sin \left((k+1) \frac{\pi}{4} \right) \right) \left(x + \frac{j}{2} \right)^n. \quad (34)$$

Proof. From (19), we have for $m \geq n$

$$\Omega_E(x^n) = \sum_{k=0}^m \left(\sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+k}}{2^s} \binom{k-s}{s} \right) \Delta_{\frac{1}{2}}^k(x^n). \quad (35)$$

With the help of (16), we have

$$\Delta_{\frac{1}{2}}^k(x^n) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} \left(x - \frac{j}{2}\right)^n. \quad (36)$$

By (35) and (36), we deduce (32) and we have

$$\mu_j \left(E, \frac{1}{2}, m \right) = \sum_{k=j}^m \sum_{s=0}^{\lfloor \frac{k}{2} \rfloor} \frac{(-1)^{s+j}}{2^s} \binom{k-s}{s} \binom{k}{j}.$$

In the same way, we obtain (33) and (34) thanks to relations(20) and (21) of Lemma 3.2. \square

4 Explicit formulas for Bernoulli numbers

The Bernoulli polynomials $B_n(x)$ are defined by the following exponential generating function

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (|t| < 2\pi). \quad (37)$$

The Bernoulli numbers are then $B_n = B_n(0)$. From the definitions (6) and (37), we can easily deduce the following well-know properties [8, pp. 218 and 222]

$$E_{n-1}(x) = \frac{2}{n} \left(B_n(x) - 2^n B_n\left(\frac{x}{2}\right) \right), \quad n \geq 1, \quad (38)$$

$$E_n(1-x) = (-1)^n E_n(x),$$

$$E_n(0) = (-1)^n E_n(1). \quad (39)$$

From (38) and (39), we deduce that

$$B_{n+1} = \frac{n+1}{2(1-2^{n+1})} E_n(0) \quad (40)$$

and

$$B_{n+1} = \frac{(-1)^n (n+1)}{2(1-2^{n+1})} E_n(1). \quad (41)$$

From (38), we also deduce

$$E_{2n+1}\left(\frac{1}{3}\right) = \frac{1}{n+1} \left(B_{2n+2}\left(\frac{1}{3}\right) - 2^{2n+2} B_{2n+2}\left(\frac{1}{6}\right) \right).$$

Using the following relations [1, pp. 806]

$$B_{2n+2}\left(\frac{1}{3}\right) = (1-3^{2n+1}) \frac{B_{2n+2}}{2 \cdot 3^{2n+1}}$$

and

$$B_{2n+2}\left(\frac{1}{6}\right) = (1-2^{2n+1})(1-3^{2n+1}) \frac{B_{2n+2}}{2^{2n+2} \cdot 3^{2n+1}},$$

we deduce that

$$B_{2n+2} = \frac{2(n+1) \cdot 3^{2n+1}}{(4^{n+1} - 1)(1 - 3^{2n+1})} E_{2n+1} \left(\frac{1}{3} \right). \quad (42)$$

These relations that we have just proved will be useful for us to establish the following theorem.

Theorem 4.1. *For all integers m, n such that $0 \leq n \leq m$, we have*

$$B_{n+1} = \frac{(-1)^{n+1} (n+1)}{2^{n+1} - 1} \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^j}{2^{k+1}} \binom{k}{j} (j+1)^n, \quad (43)$$

$$B_{n+1} = \frac{n+1}{1 - 2^{n+1}} \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^{k-j}}{2^{k+1}} \binom{k}{j} (k-j)^n, \quad (44)$$

$$B_{n+1} = \frac{n+1}{2^{m+1} (1 - 2^{n+1})} \sum_{k=0}^m \sum_{j=0}^k (-1)^{k-j} \binom{m+1}{j} (k-j)^n, \quad (45)$$

$$B_{2n+2} = \frac{n+1}{(4^{n+1} - 1)(3^{2n+1} - 1)} \sum_{k=0}^{2m+1} \sum_{j=0}^k \frac{(-1)^{j+1}}{2^{k-1}} \binom{k}{j} (3j+1)^{2n+1}. \quad (46)$$

Proof. In all that follows, we suppose that $0 \leq n \leq m$. From relation (23), we deduce for $x = 1$

$$E_n(1) = \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^j}{2^k} \binom{k}{j} (j+1)^n. \quad (47)$$

Using (41) and (47), we get (43). From relation (23), we deduce for $x = 0$

$$\begin{aligned} E_n(0) &= \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^j}{2^k} \binom{k}{j} j^n \\ &= \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^{k-j}}{2^k} \binom{k}{j} (k-j)^n. \end{aligned} \quad (48)$$

Using (40) and (48), we get (44).

From relation (24), we deduce for $x = 0$

$$\begin{aligned} E_n(0) &= \sum_{k=0}^m \sum_{j=0}^k \frac{(-1)^j}{2^m} \binom{m+1}{k-j} j^n \\ &= \frac{1}{2^m} \sum_{k=0}^m \sum_{j=0}^k (-1)^{k-j} \binom{m+1}{j} (k-j)^n. \end{aligned} \quad (49)$$

Using (40) and (49), we get (45).

From relation (23), we deduce for $x = \frac{1}{3}$

$$E_{2n+1} \left(\frac{1}{3} \right) = \frac{1}{3^{2n+1}} \sum_{j=0}^{2m+1} \sum_{k=j}^{2m+1} \frac{(-1)^j}{2^k} \binom{k}{j} (3j+1)^{2n+1}. \quad (50)$$

Using (42) and (50), we get (46). □

Theorem 4.1 generalizes many explicit formulas given in [5]. Indeed for $m = n$, the identity (43) becomes

$$B_{n+1} = \frac{(-1)^{n+1} (n+1)}{2^{n+1} - 1} \sum_{k=0}^n \sum_{j=0}^k \frac{(-1)^j}{2^{k+1}} \binom{k}{j} (j+1)^n.$$

This last identity is exactly the identity (2) given in [5]. This formula has been proven in 1940 by Garabedian [4] by use of divergent power series. In 1953, Carlitz [3] also gave a short proof while pointing out that formula was a very old formula proved in 1883 by Worpitzky [11, pp. 224]. This same identity was again proved in 2004 by Rzadkowski [10].

Using the following Gould notation [5, pp. 48]:

$$B_{r,q}^n := \sum_{j=0}^r (-1)^j \binom{q}{j} (r-j)^n, \quad (51)$$

relations (44) and (45) can be written

$$B_{n+1} = \frac{n+1}{2(1-2^{n+1})} \sum_{k=0}^m \frac{(-1)^k}{2^k} B_{k,k}^n \quad (52)$$

and

$$B_{n+1} = \frac{n+1}{2^{m+1}(2^{n+1}-1)} \sum_{k=0}^m (-1)^{k+1} B_{k,m+1}^n. \quad (53)$$

Gould's identities (18) and (19) of [5] are obtained when $m = n$ in (52) and (53) respectively.

References

- [1] Abramowitz, M., & Stegun, I. A. (1964). *Handbook of Mathematical Functions*, National Bureau of Standards.
- [2] Appell, P. (1880). Sur une classe de polynômes, *Annales Scientifiques de l'École Normale Supérieure*, 9(2), 119–144.
- [3] Carlitz, L. (1953). Remark on a formula for the Bernoulli numbers, *Proceedings of the American Mathematical Society*, 4, 400–401.
- [4] Garabedian, H. L. (1940). A new formula for the Bernoulli numbers, *Bulletin of the American Mathematical Society*, 46(6), 531–533.
- [5] Gould, H. W. (1972). Explicit formulas for Bernoulli numbers, *The American Mathematical Monthly*, 79(1), 44–51.
- [6] Gould, H. W. (1972). *Combinatorial Identities*, revised edition, Morgantown, West-Virginia.
- [7] Khaldi, L., Bencherif, F., & Derbal, A. (in press). A note on explicit formulas for Bernoulli polynomials. *Journal of Siberian Federal University. Mathematics & Physics*.

- [8] Quaintance, J., & Gould, H. W. (2016). *Combinatorial Identities for Stirling Numbers: The Unpublished of H. W. Gould*, World Scientific Publishing Co. Pte. Ltd, available at: <https://www.abebooks.fr/9789814725262/Combinatorial-Identities-Stirling-Numbers-Unpublished-9814725269/plp>
- [9] Robert, A. M. (2000). *A Course in p -adic Analysis*, Springer-Verlag, New York.
- [10] Rzadkowski, G. (2004). A Short Proof of the Explicit Formula for Bernoulli Numbers, *The American Mathematical Monthly*, 111(5), 433–435.
- [11] Worpitzky, J. (1883). Studien über die Bernoullischen und Eulerschen Zahlen, *Journal für die reine und angewandte Mathematik*, 94, 203–232.